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I: Write the definition of: 

1.  It has 3 sides 

 It has 3 corners 

 

 

2.  It has no sides 

 It has no corners 

 

 

II: Write numbers in words 

1. 120= One Hundred and Twenty 

2. 432= Four Hundred Thirty Two 

3. 774= Seven Hundred Seventy Four 

4. 300 Three Hundred 

5. 240= Two Hundred Forty 

III: Write the given numbers and complete the Abacus 

1. 282     2.444 

        

 

 

  

IV : Write the middle number   

a)    724 , 725, 726 

b)   342, 343,  344 

c)   236, 237,  238 

V: Write before numbers  

a)   100,    101             b)   810,    811          c) 935,   936    

VI  : Write the suitable missing numbers  

a) 120,121,122, 123,124,125 

b) 271, 272, 273,274,275,276 



SA-I REVISION  

Class: III Mathematics 
 

 

c) 342, 343, 344, 345, 346, 347 

VII: Write the numbers given in the table  

a) H   T  U                                                            b) H   T  U                                                      

    3    2   0          5  3  4  

 

c) H   T  U                                                            d) H   T  U                                                      

    2    3   1          4  3  0 

VIII: Identify the greater and smallest number  

Numbers Greater number Smaller number 

125, 521 521 125 

990, 909 990 909 

146, 130 146 130 

VII: Write Ascending and Descending order  

a) 645, 642, 649, 647, 644 

Ascending order-642, 644,645,647,649 

Descending order-649, 647,645,644,642 

a) 532, 632, 432, 732, 832 

Ascending order- 432, 532, 632, 732, 832 

Descending order-832, 732, 632, 532, 432 

VIII : Add the following   

a) T     U b) T     U c) T     U                          d) T    U 

    4     3                            3      6                         2      5                               5     5 

+ 2      2                         + 2     1                      + 2      3                             + 2     1 

    6     5                            5     7                         4      8                               7       6   

IX: Expand and add   

a) 43 + 55                                                  b) 12 + 28 

40 + 3 + 50+ 5 10 +2 +20+ 8  

40 + 50 + 3 + 5 10 + 20 + 2 + 8 

90 + 8  30 + 10 

98 40 

B32320) 

H 

b) H 

    3    2   
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X: Add the word problem  

a) Ashok has 266 roses in his garden and Nishita has 314 roses in her garden. How many 

roses are there altogether ? 

Roses in Ashoka’s garden  = 2 6 6  

Roses in Nishita’s garden   = 3 1 4 

Total number of roses     5 8 0  

XI: Add with carry over  

a) H       T      U 

    4         6      6 

+   1       7      4 

    6        4       0 

XII. Subtract the following    

a) 888 – 525                             b) 566 – 322 

 H   T   U   H   T   U 

     8    8   8 5   6   6 

-   5    2   5                                   - 3   2  2  

    3    6   3                                      2  4   4   

XIII. Subtract the following by carry over  

a) H     T    U                                   a) H     T    U 

    6      8     4 7    8    6 

-  2       9     8                                     - 2    9   7 

   3       8    6 4    8   9 

  XIV:  Subtract the given word problem 

a) Vikas is reading a novel containing 325 pages. He already finish reading 224 pages. How 

many more page still he has to read. 

No. of Pages in novel = 3  2  5 

No. of pages finished reading = 2  2  4 

No. of pages still need to read    1  0  1 
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XV:  Multiply the following 2 digit numbers   

a) 2    3                         b)  2   2                c) 3   6                 d) 5     5  

X        3                            X      4                 X       1                   X      1    

    6   9        8   8 3     6 5   5 

XVI: Multiply and write the product  

a). 2 X 5= 10 

b) 9 X 3 = 27 

c) 8 X 6 = 48 

d) 10 X 5 = 50 

XVII: Multiply the word problem   

There are 3 rods in each window. How many rods are there in 2 windows  

3+3 = 6 

2 times 3 = 6 

2 x 3 = 6 

XVIII: Write the multiplicand, multiplier and product of the given number.   

a) 3 X 6 = 18                                                                  b) 7 X 3 = 21  

Multiplicand= 3 Multiplicand= 7 

Multiplier      = 6 Multiplier      = 3 

Product         = 18                                                          Product         =  21 

XIX: Solve this word problem  

 6 pairs of bangles, 2 bangles in each pair. How many bangles are there in all?   

6 X 2 =12 Bangles      

X X: Find the product.   

a) 1 2  X  4   = 4 8                                                        b) 3 3 X  3 = 9 9 

 


